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PART -1: GENERAL ENGLISH

1. Can we go this way to reach the Post Office?

(1) seeking information (2) making arequest
(3) seeking permission (4) makingasuggestion
2. What made Maya Bazaar a land mark movie?
(1) Direction of K.V. Reddy (2) Dialogues of Pingali Nagendra
(3) Sterling performances of stars (4) Allthe above

3.  Combine the following sentences using ‘neither-nor’.

Mr. Rao 1s not attending the meeting. Mr. Prabhu is not attending either.

(1) Neither Mr. Rao is attending the meeting nor Mr. Prabhu is attending the meeting.
(2) Neither Mr. Rao nor Mr. Prabhu is attending the meeting.

(3) Neither is Mr. Rao nor is Mr. Prabhu attending the meeting.

(4) Mr. Rao is neither attending the meeting nor Mr. Prabhu is attending the meeting.

4.  What is the theme behind the lesson “I will Do It”?
(1) Narayana Murthy’s achievement of 117 seat.
(2) A person needs support from the family to achieve something in life.
(3) Every person has success and failure in life.

(4) One who is intellectually and ethically strong can become an icon of success, even
though from an ordinary family.

5.  “My laugh in the mirror shows only my teeth like a snake’s bare fangs!”.

What is the figure of speech in the above lines?
(1) Metaphor (2) Simile (3) Alliteration (4) Personification

6. He was inreality a very simple and unassuming man with a subtle sense of humour. What is
the synonym of the underlined word?

(1) smooth (2) unnecessary  (3) unnoticeable (4) intolerable
7. ‘Bye! seeyouagain’ ..... This expression fits well for a

(1) Diaryentry (2) Conversation

(3) Article writing (4) Advertisement

8.  Find out the wrongly spelt word.
(1) elegance (2) speculation (3) govemance (4) occasion
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9. ‘IfIwere you, I would donate half of my money to the poor’. This is the best example for
(1) complementing (2) suggesting
(3) accusing (4) thanking
10. What do we call ‘a person who is responsible for a problem or a crime’?
(1) Publisher (2) Massive (3) Culprit (4) Cardiologist
il Hes about technology.
Fill the above blank with suitable options given below.
(1) 1gnorant (2) innocent (3) indecent (4) inefficient
12. List out the positive qualities from the following.
a) selfcentred b) imaginative c) affable d) reliable
(1) (a)and(d) (2) (b),(c)and(d)
(3) (b)only At (4) (c)and(d)
13. Whatkind of a person was Elizabeth Jordan?
(1) witty (2) complacent (3) generous (4) humorous
14. Whatis well explained through ‘A tale of three villages’?
(1) how to overcome pollution
(2) what are the precautions to be taken to stop pollution
(3) how ‘Pollution’ could affect the environment and mankind
(4) the flourishing of factories in villages
15, Idenﬁfy the quantifier that best fits in the blank given below.
Pollution is such a grave problem that person has to think about it.
(1) 4l (2) any (3) no (4) every
16. Which of the following are alliteratives?
a) hodge-podge - b) tip-top
c) itsy-bitsy d) tick-tock
e) see-saw
(1) (a)and(b) (2) (a)and(c)
(3) (b),(d)and(e) (4) (a)and(e)
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17.

What was the writer’s intention in portraying the story ‘What is My Name’?
(1) the basic identity of women at home and in the society.

(2) how to overcome the problem of men domination.

(3) how to keep the house clean and design muggulu.

(4) how to bring up children efficiently.

18.

‘Please take your seat!” This expression means —
(1) giving permission (2) requesting permission
(3) making an offer (4) seeking permission

1D,

Which of the following words comes first in dictionary?
(1) Fierce (2) Freak (3) Fuel (4) Fossil

20.

Change the voice

Father has answered my phone call.

(1) My phone call has been answered by father.

(2) My phone call has answered by father.

(3) My phone call was answered by father.

(4) My father has been answered by my phone call.

21.

[trained heavily. But we didn’t postpone the shooting.

(Combine the sentences using ‘In spite of”)

(1) Inspite of it rained heavily, we didn’t postpone the shooting.
(2) Inspite of heavy rain, but we didn’t postpone the shooting.
(3) Inspite of its rain, we didn’t postpone the shooting.

(4) Inspite of heavy rains, we didn’t postpone the shooting.

22,

Choose the right prepositional phrase for the sentence given below.
Giri went to the station his father.
(1) inplace of (2) bymeansof (3) inadditionto (4) alongwith

23.

Gowtham, who went abroad last year, came back to his motherland.
(Identify the type of clause in the sentence)

(1) Defining Relative Clause (2) Non-defining relative clause
(3) Ifclause (4) Independent clause

24,

What is/are the important elements in Biographical sketch?

(1) Personal information (2) Career
(3) (1)and(2) (4) asignature
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25.

The minimum characters necessary for a conversation are :
(1) 1only (2) -2 (3) morethantwo (4) alltheabove

26.

Which are the elements included in a letter writing?
(1) Date and address (2) Salutation and subscription
(3) Body of the letter (4) Allthe above

.

The meeting is postponed. So we resumed our usual work.

(Combine the sentences using ‘since’)

(1) Since we resumed our usual work, the meeting is postponed.
(2) Since the meeting is postponed, we resumed our usual work.
(3) Since the meeting is postponed, so we resumed our usual work.
(4) The meeting is postponed since we resumed our usual work.

28

Which among the following is NOT a feature of a one act play?
(1) One setting (2) Minimal characters
(3) asubject/theme (4) Fantasy

29,

It was a/an situation that left a lasting impression on the teacher.
(1) unforgettable (2) occasional (3) recalling (4) uncontrollable

30.

“We don’t have enough basic needs like food, water and energy”. This statement shows —

(1) gratitude (2) adequacy (3) inadequacy (4) prediction

a4

My little sister is fond fairy tales.
(Choose the right preposition)

(1) at (2) of (3) to (4) by

32,

Combine the sentences using a relative clause.

The king presented his daughter a bird. It sang sweetly all day.

(1) Theking presented his daughter a bird who can sing sweetly all day.
(2) Theking who presented his daughter a bird sang sweetly all day.

(3) Theking presented his daughter a bird which sang sweetly all day.
(4) TheKing’s daughter sang sweetly with the bird all day.

33.

The challenges in our lives are there to strengthen our convictions.
(Find the synonym of the underlined).
(1) contentment (2) fears (3) beliefs (4) desires
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34. What does the narrative of colonel Sanders prove?
(1) Onecan’t earn more than 100 $ at the age of 65.
(2) Onewho doesn’t give up can achieve success even at 65.
(3) " One can try mother’s recipe at the age of 65.
(4) One can knock atleast 10 doors only to receive an order for his recipe.

35. What was the philosophy behind the poem “Or will the Dreamer Wake’?
(1) The need for protection of Wild life.
(2) The need to incite the human being towards rehabilitation of animal world.

(3) The fear of extinction of animals.
(4) Allthe above.

36. My austere father used to avoid all in essential comforts and luxuries.
(Find the antonym of underlined word)
(1) deny (2) expect
(3) accept : (4) quit

37. What does the binomial “odds and ends” mean?
(1) difficulties (2) abigchoice
(3) unimportant things (4) anintegral part

38. What was Walt Disney’s invention?

(1) Mickey Mouse (2) Triode tube

(3) Electric bulb (4) Kentucky chicken
39. Ifyou invited me, I attend the ceremony.

(1) had (2) would

(3) will (4) would have

40. They may not approve my request.
(Change into passive voice) .
(1) My request may not approve them.
(2) My request may not be approved.
(3) My request may approve them.
(4) My request is not approved by them.
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Question No. 41 to 45 : Read the following passage.

A teenage boy from a village moved to the city for a job to support his family. He applied
for a job in a big firm.

After some days, he went to attend the interview. He successfully cleared all the tests. The
hiring manager, “You are hired, give me your details for further processing. Also make sure that
your bike is in good condition, as you have to do a lot of travelling to meet the customers™.

The boy replied, “Sir, but I don’t have a bike with me”. Hiring Manager, “Without a bike,
you will not get this job, you can leave”. :

The boy left the place thinking about what to do next. He had little money with him. Buthe
does not want to return to his village without a job. He came across a big vegetable market. He
sparked with an idea. He decided to buy vegetables and sell from door to door. This went well
with good profits, so he continued his hardwork and developed his business as a food chain
retailer.

After a few years, his friend visited his home and found many cars in the garage of his big

house. The business man’s friend asked, “You have a good collection of cars, do you have any
bikes?”” The man smiled and replied, “IfThad a bike, I wouldn’t have had these many cars. This is

my destiny”.
Answer the following questions :

41. Why did the boy move from village to city?
- . (1) togetmarried (2) toenjoylife (3) tofindajob (4) to find friends

42. Whatkind of job did the boy get?
(1) ajob to meet customers (2) ajob to look after the company
(3) ajob ofhiring manager (4) hedidn’t pass the interview

43. What was the reason he was not hired for the job?
(1) He didn’t clear all the tests
(2) Hedidn’t satisfy the hiring manager
(3) Hedidn’tlike travelling
(4) Hedidn’thave abike

44. Whatdid the boy decide when the hiring manager refused to give him a job?
(1) The boy decided to leave the city
(2) The boy decided to buy a bike
(3) The boy decided to stay in the city till he gets a job
(4) The boy took loan to buy a bike

V-General English 8-E



Question Paper
Booklet Code

45. Which message best suits the story?
(1) One should never give up in despair.
(2) One should buy a bike to secure a job.
(3) Itis necessary to do marketing to become successful.
(4) Ifyou fail in interview, you should go back to your family.
46. Which among the following is NOT a right statement about Wangari Maathai?
(1) She was an Environmental activist
(2) She was the leader for Green Belt Movement
(3) Shewas a feminist
(4) She was a native of South America
47. We should complete this construction by next week.
(1) obligation (2) pasthappening
(3) present reference (4) inference
48. AsIwas going to take my first sip, I heard father’s voice.
Which kind of Adverbial clause is the underlined part?
(1) condition (2) time
(3) reason (4) result
49. What qualities in Nick made him an International symbol of triumph?
(1) Nick’s bravery and perseverance
(2) Nick’s humour and wit
(3) His fear and hesitation
(4) Nick’s disability and rare disease
50. The poem ‘A plea for India’ urges for

(1) aviolent India

(2) astrong, united India
(3) inciting leaders

(4) selfish mothers
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PART -1l : MATHEMATICS

51. logtanl®+ log tan2° + log tan3° + ... + log tan 89° = I
| ) 9 (2) log(tan90°) (3) 1 i S
52.  Among the following a pair of non-disjoint sets is !
- RS ey
djﬁdeL/uﬁ;"wa!JMUfJ_JeJﬂ
(1) A-B,AnB 2) B-A,AnB '
3 B-A,A-B 4 AUBANB
53. A positive number ‘m’ is divided by 11 and leaves the remainder 6. If 4m + 5 is
divided by 11, then the Eemainder is z
! Ubi.:ffla.;i./(-’-ﬂc_ll,v(flm +5 /fi..{_t'ﬁd"la6L}L{Z_/ﬂJc:.lli/‘m’,a,wu:w;t..g
(H 10 @ 9 G 8 ¢ 3
54. Match the following : "
o “J ¥z
: a -+
Ifsm9=az+b2 then 2 P f
-~ sinf= 20| I
. 2ab
i) cosf = a) s 5 ]
5 4 b a +b?
it) tan® = ) ab
¢ aZ = bZ
iii) secO* - c) v
i 2ab
iv) coth = d) m
(1)  i-a, ii-d, iii-c, iv-b (2)  i-a, ii-b, iii-c, iv-d
(3)  i-d, ii-a, iii-b, iv-c (4) i-d, ii-c, iii-b, iv-a
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55.  If a and B are the zeroes of x> —p(x + 1) —cthen (a+ 1) (B + 1) =
(@+1)B+1)=- o Bl ol e+ 1) -/
(1) p2+2p+2c ) —[1+£J
P
(3) =g 4. p
56. If the mean of first ‘»’ natural numbers is on and the mean of first ‘m’ odd natural
. m2 9
numbers is e thenm+n=
2 &
m+n= - % .L/J%’ﬁld-‘blb‘m’énl §9£ Jw%’ﬁ'd-‘b‘n’%/’i
(1) 81 2) 90 (372 4y - 112
57. In the given figure, BD is the bisector of ZABC. If ZADB = ZDEB = 90° then,

which of the following are true?
o J_’ dpxr oF ZADB = £/DEB = 90°//f _‘:'_.(Bisector)...iiL'K 4ABC‘BDufy f 53]

(¥4 Dl U!(C-—
B D
E
£

i)  AABD=ADBE i) ZBAD=ZBDE
iii) AABD ~ADBE iv) ZADB = ZDEC
(1) (@, (i), (iii), (iv) (2) (i), (i), (iv)

() (i), (iv) 4) (@), @), (iv)
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58. sin*A-cos*A=
1) sin? A —cos? A
ii) 2sin?A-1
iii) 1-2cos’A
iv)  cos’A-sin’A

(1 @, G
G ©.@Gv)

@ @, (i)
@) (0, @), (i)

59. If x- 2 4 then which of the following are true?

x

i) x2+—'2—=18
X

i

iii) x——2=8\/§
X

(1) (@, (), (i), (iv)
G) (@, (), (v)

= 1
-ufu;l.aa._u:(a..ufd_i,pﬂ.._.}' x—; =4 /‘1
SN S

X

by +L4 =322
x

@ . ®,G)

@ (), (b, (iv)

60. If the mean, median and mode of the data 60, 100, x, 40, 50, 200, 90 are all equal to

x, then x =
= x AL xp U sl s bl 60, 100, %, 40, 50,200, 90 =gt/
(1) 90 ) (3) 100 4 110
61. Ifthe zeroesofx*—3x>+x+larea—b,a,a+ b then a = D=

b=

B)  a=v2,b=-\2

U a—b,a,é+b)‘£x3—3x2+x+lﬁ

@) a=1b=%J2

(@) a=+2,b=13

V-Maths
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62. The system of equations 2x + 3y = 7 and (a + b) x + (2a — b) y = 21 has infinitely
many solutions then a = , b= .
a— - SEGIL P BL UPblA(a+ by x+ Qa—b)y =21 2x+3y =7
b= 23
(1) a=5,56=3 2) a=6,b=5
B) a=50b=1 4 a=1,b=5
63. The mean of ‘n’ observations is ¥ . If the first observation is decreased by 1, second
by 2 and so on, then the new mean is
Ll o bbal U AL eyt o 1ostioty [ F bl taliotn
Lol a2
: k_+[n+]) . T
M : @)= TH| =
X - "_"'1 BR b
® (= @ (=)
64. ABCD is a trapezium in which AB//DC and AB = 2DC, then the ratio of the areas of
AAOB to ACOD is
=a§UAL ACODSIAAOB AB = 2DC.s| AB//DC A ABCD (Trapezium),>{]
D
0
X B
(1) 802 @ 21 B) 14 @ 41
65. The ratio of lateral surface area to the total surface area of a cylinder with base

diameter 1.6 m and height 20 cm is

MJJJJKifﬁsL}rK 5&/"&;'5"’1 Uls 2 2084k sl 2 1.6 64l
A 17 @ 71 @) 15 @ 51
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66. IfF(x) denotes set of all divisors of x, then F(18) — F(12) =
= F(18) - F(12) et R A zip UL i
() {12,18} = 2y 9,12} 3} {9 18} (416, 18}
2x+-1- 1
67. If (Q/Z) 2= =% then the value of x =
: = 2x4— 1
o 3 4 = /(7
(¥ =
() .4 ) =8 3 2 o S
- (sz—ﬁx)
68. Iflog =2 thenx=
2 5x2-6x)
=X logﬁ =2 ﬁ
ok 3+4/17
) S8 g WA R sl G SR
6 6 5 5
69. The distance between the two points where the graph of p(x) = x? — 3x — 4 intersects
X-axis is units.
ULkl Lobbnd bnd_tsi_ SELF xS plx) =2 - 3x—4
iy 2 2 - 3 (.4 (.. >
70. If(3,9)is a point on the line 2ax — 3y =5 thena =
a= (3, 9) B 52ax - 3y=5/1
3 16 A
1 5 2 = 3 ke 4 T <8
(1) (2) i (3) 3 4) -
71. Which term of the A.P. 3, 10, 17, ... will be 84 more than its 13t tertii?

_a‘_,;g;84c_gfq‘,13£u'lufwfuf 3,10, 17, ... L2
(ry - 21y (2 43 k) 27 @4 25
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5

Two right circular cones X and Y are made such that X having three times the radius
of Y and Y having half the volume of X. Then the ratio between the heights of X and
Y is

KZL X;KYM lfuf. b//‘;’._.é-ﬂjd/Y ﬁ_»ddleufz 2k C)’u’l.!a:fdxu FG.JJ Y 41X
&-{‘TJUJ_JALYJ}’ X sef -r‘;....EA"

) 78 2) 29 (3) 32 @) 97

.

If tanB + sinb = p and tanO — sin = g then p2 — g2 =
s « tan — sinb = g4l tanB + sin® =pﬁ

(1) 16Jpq @ 4Jpg (3) 16pg “) 4pq

74.

A sphere of radius 3 cms is dropped into a cylindrical Vessel of radius 4 cms. If the
sphere is submerged completely, then what is the increasing level of water (in cm)?

L PN ot I T I 10 idbe sisra f3.S U id 3
(et G TS

@) 235 @) 230 @) 235 @ 215

15,

If n(A—B)=16, n(B —A) =10, (A N B) = 5, then n(A U B) =
n(A UB)= <= n(A —B)=16, (B — A)= 10, n(A A B) = 5./1
1 16 @ 10 0 3 @ 15

76.

If the sum of the squares of the zeroes of the polynomial f (x) =x2 — 8x + k is 40 then
the value of ‘%’ is

| k= nd0. o5 KUP UL f) =22 —8x+ k L2
(1) -0 @ 16 0y 14 @) A2

¥ 8

Ifax+by=a2—-b2andbx+¢g;=0thenx+y=
x+y= —.J"x+qy=0»'ai'+by-=a2—-b2/ﬁ
(1) a? — b? (2) b—a (3) a—>b 4) a® + b?
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78.

In an acute angled triangle ABC, if tan (A + B — C) =1 and sec (B + C — A) =2 then
A, B and C are respectively . E

L£CHiA, Borsee B+C—A)=2 s tan (A +B - C) = 1 JIUfABCEL ilinsb
. , , T

(1) 52l ; 67l , 60° (2) 67l ,52—l~ , 60°
2 2 s 2

G e T
3)  60° 52— ,67— 4)  60° 67— ,52—
€) Tt : (4) GP o

79.

The region consisting of all points in three-dimensional space with in 3 units of the

line segment AB has volume 216 cu. units. What is the length of AB ? (in units)

Z g3 LI;LJ:L?:‘}rV")ﬁf{_Eliugl{|3uf(three-dimensional space)d:b{l./:)ic;&_ﬁ ,.:IJJ" £
(L OEN_GeUH RB IeuEeis™ 216

(1) 24 )20 3) - 18 @) o

80.

In AABC, ZA =90°, AB=5 cm and AC =12 cm. If ADLBC then AD =
cm.

AD=_ - _*BCLAD/JI AC=12cm »/AB =5 cm «ZA = 90° X AABC

Rl

13 60 13
60 13

0 &= 3)

81.

From the given figure the relation between x and y is
:/"'Ju.lfwé y 8 x Jdﬁp
P C 45 B .

(1) x+y=135 () x-y=2 (3) 2x+y=10 (4 x-29=6
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82.  Which of the following are correct?
Ut ODsloe LJ’(U: J_’ BET
a) BcA=AUB=A
b) Bc A= ANB=B
) WUWNZ=N
d) AcB,BcA=A=B
(1) (@), (b),(c). (@) (2)  (a),(b),(c)
3) (a).(b).(d “4) (a) (o), (d)
83.  The area of the equilateral triangle formed by the vertices (a, a), (—a, —a) and
(—«/Ea, \/3_;0) is sq. units.
ULk, -t (—ﬁa, \Ea) »l(a, a), (-a, —a)J chﬁf,}'x(&*ﬁ'ﬂdb (Sal~
(1) 434 @) .. I3
B) 832 @ 6B
84. Ifthe points (p, q), (m, n) and (p — m, g — n) are collinear, then
: s (collinear) sELS A (p — m, g — m)s(p, q), (m, n)bE.)]
(1) pm=gn 2) pm+tgn=0
3) pn+gm=0 @) pn=gqm
85.  Three vertices of a parallelogram ABCD are A(3, —4), B(-1, —3) and C(- 6, 2). Then

the area of the parallelogram ABCD is $q. units.
FURC(- 6, 2) A3, —4), B(-1, -3)U L~ L ABCD (parallelogram){ o (15
~USUKKIT, S IS5

15
2

3) 30 4) Datais insufficient (< (3 te15)

) 15 (2)
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86.

The difference between the areas of a sector of angle 120° and its corresponding
major sector of a circle of radius 21 cm is cm2,

LE 1L ANUBFEE I GLtsd sl iK 120°//9£.;/1)Lu/v_w/21

B S s
(1) - 147n (2) 294n (3) 462n 4) 441n

87.

In the figure, if PQR is the tangent to a circle at Q whose centre is ‘O’, AB is a chord
parallel to PR and Z/BQR = 70°, ZBOQ = 140° then ZAQB =

e 5 LIABUHIFEPR e JWLIPQR 1 QB L L 215t SO0 Ut Foer
ZAQB = —* ZBQR =70°, ZBOQ = 140°

st N

Oy

&
<

v

P Q R
1) 20° @) 35° (3)  40° @) 45°

88.

The angle between two radii of a circle is 130°, then the angle between the tangents
at the ends of those radii is

Soend gV 2,568 TIL Uy Bid I 136 130°0end Uy Bidn b bkl

../3')

(1) 40° - ) 70 4 90°

89.

If the roots of (6~ ¢) x2 + (¢ — a) x + (a — b) = 0 are equal then

CURSIAE L (b—c) 2+ (c—a)x+(a—b)=0 0 /]
(1) - 2b=a+c 2) at+b=c

(B). a+d+c=0 4) b2=ac

V-Maths 18-E
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90.

If the sum of the roots of the equation x* —(k+8)x+2(2k—1)=0 is equal to half of
their product then £ =

Sl AL PP E ek KIS P ~(k48)x 4 2(2k=1)=0 = ls]
k=
i) -1 2 6 ). 5 49

o1.

If one root of 4x? — 2x + (A —4) = 0 be the reciprocal of the other then A =
J= si(Reciprocal) S8 e 3o 2 LK 42 — 26+ (A —4) = 0 wlsba]]
(A - @ - —4 L ) &

92.

The middle most term of the A.P. 7, 13, 19, ..., 247 is
e SIOs67, 13,19, .., 247615012

-

() =121 Q) =121 () ay=127 @ @,=133

93.

If k2 + 4k + 8, 2k + 3k + 6 and 3k + 4k + 4 are the three consecutive terms of an
A.P.then k=

U SEAIL sl (consecutive) HFAeE 3K + 4k + 4.2 + 4k + 8, 202 + 3k + 6.1
k-_—
(). -0 @ 1 (33 0 4 3

94.

The sum of all the odd integers between 2 and 100 divisible by 3 is

s K;r,wlfuwrVLl,a_rfﬂyd“f«JLqu100»1 2
(1) 1683 2) 867 ES5) 11 4) 3366

95.

An observer 1.5 m tall is 28.5 m away from a light pole. The angle of elevation of the
top of the light pole from his eyes is 45°. Then the height of the light pole is
metres.

SUELL $ore ST Sute o6l 285 e L GonLionten LI 315
_d/x/-.’.' JAJJLL}’J}M-L—“-S J'/’dJ’JK,-"’}
T @y : 3 G). . 315 @ 30

96.

The shadow of a pole standing on a even level ground is found to be 40 m longer,
when Sun’s attitude is 30° than when it was 60°. Then the height of the pole is
metres.

A0S L iy b1t 30° 1L o 13600 ALy ifiy 5l
-Jﬂﬂ S SekSus e
(1) 2043 ) 303 (3 4043 4) 1043
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97.

The angle of elevation of the top of a hill at the foot of a tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50 m
high, the height of the hill is metres.

_4_30°Jf/~:f4&-a?dULL;V;(&&;({JIJ:L:_GW W K S5 $ g L AL ta L]
e dAJJV_fa./sod,»LJ;uf
(1) 100 @) 503 3) 150 @) 15043

98.

Two dice are thrown simultaneously. Then the probability of getting the sum of the
two numbers appeared on them is a prime number is

J [_3 lﬁ.ﬂ:ﬁ:/’"uﬁ;}f K)UF'L'SL)’EJ" lw__«,iLur’gul_.;_fuu.-:n_,“ﬁfu?g»
T

10 12 14 15

@ o & = CREE=

99.

A bag contains 12 balls, out of them “x’ are white. If 6 more white balls are added to
the bag, the probability of drawing a white ball will be doubled. Then x =

Sie St vl sed 6 st Seo oyl toigpad 12 st
= x SEntHU G Gelii
@y 3 2) 6 ) 29 L) A

100.

A number ‘x’ is selected from the number 1, 2, 3 and then a second number {y’ is
randomly selected from the numbers 1, 4, 9. Then the probability, that the product of
the two numbers (x and y) will be less than 9 is

At T 1, 4, 9306y siofluste P U % sl i1, 2, 3 51l

- Jgﬁ.ﬂ(e_ﬂg/"’d/b §(yix)
m 2 ® 3 ® @ 2
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PART - III : SOCIAL STUDIES

101. Identify the odd one based on its location.
(1)  Utkal coast (2)  Coromandel coast
(3) Konkan coast (4) Circar coast
YISl
Sudind @ S
Sk @) S 0
102.  Which of the following city is closer to equator?
(1)  Chennai (2) Hyderabad (3) Nagpur (4)  Chandigarh
e LUl s e i1
oS @ gtom b @ o B
103. Bhutan does not share its border with this Indian state.
(1)  Sikkim (2) Assam
(3) Meghalaya (4)  Arunachal Pradesh
..c"_C’Cu.?:.ﬂf!dw/:_ MLJJFJUVJHUE:‘.’
SEEN) oo
FagSe (@) S 3)
104. Find the odd one out with reference to economic sectors.
(1)  Fishing (2) Forestry
(3)  Auto mobile manufacturing (4) Mining
S S AT Ll 6\
=t @ AFE o
Jo¥ @ SgdSsT )
105. Which of the following is/are elements of weather?
a) Temperature b) Atmospheric pressure
c) Atmospheric moisture d) Rainfall
(1) (a)only (2) (b)and (c) only
(3)  (a), (b), (c) only 4 (a),(b), (c) and (d)
- IS S s
ibdld b =72  (a
Jh st (
(©) »i(b) (@) @<~ (1)
(d) »i(a), (b), (c) (4 U () sl (a), (b) (3)
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106. Peninsular India is part of
(1) Laurasia (2) Angara land
(3) Gondwana (4) Panthalsa
-:‘_,47( axilos 7
b @) iy )
B (@) bk B)
107. Identify the odd one out.
(1)  Patkai hills (2) Manipuri hills
(3) . Mishmi hills (4)  Mizo hills
g Sese$e
Ul d” @) e | )
W2 (@) WS | 0G)
108. Sardar Sarovar project is located on this river :
(1)  Tapati (2) Narmada
(3) Mahanadi (4)  Sutlej
—e W bsl it el sy
L7+ A2} (:f_.t' (1)
il B Sl )
109. Ifitis 10:00 am in London, it will be 11:00 am on the longitude.
6r11.00 AM. 3K EUES i IS Feun£o10.00 AM.LE LG
(1) S°E (2) 10°E (3) 15°E (4) 20°E
110. Which of the following is a north flowing tributary of River Ganga.
(1) Yamuna (2) Chambal (3) Gandak (4) Kosi
_%JTCJ:J?KQJIU:VL;@(LL»JU:Q;u—‘-’di._yp
CET TR e R (1)
111. Identify the odd with reference to the nature of capital.
(1) Tools (2) Machines
(3) Raw materials (4) Buildings
Lyl (0dd ST UL e
& @ =7 )
VI C) Jiet )
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112.  Small producers in India need the following to compete better in market.
a) Better roads, power, roads, marketing facilities and information network
b) Improvements and modernisation of technology.
c) Credit at reasonable interest rate.
(1) (@), ), (c) (2)  (b), (c) only
(3)  (a), (b)only (4)  (a)only
..c_.....us/"J l/ld').%wirﬁL/QW/U*JL:(U:JML.)”‘J:UVJM
e Qe S BNt (a
SbpsenSFSEIE (b
=, ur;/"{)rf, /"'[ (c
(b)) (2 (a), (b), () (1)
@<~ @ @, (b=~ ()
113.  Snow melting in Tundras result in releasing of this gas causing global warming.
(1)  Carbon Dioxide (2) Methane
(3)  Chlorofluorocarbons (4) Nitrous oxide
- li_r¥(Global warmmg)_,mf ucw(ufulwa:é‘i_f Y-y
& 2) Pk @
b VU~ (4) LftJ (3})"»% (3)
114. Land and water relationship have impact on climate of this place.
(1)  Visakhapatnam (2) Bhopal
(3) Delhi (4) Jaipur
e b Aot TS 1K Bl
Jst @ AL )
42 (8 & @)
115. Animudi peak is located in these ranges

Seshachalam hills
Nallamala hills

_‘Lgls‘_ﬂu:‘*d}l.éulégdjrtf
ks )
st (3)

(1)  Nilagiri hills (2)
(3) Annamalai hills (4)
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116. Availability of ground water does not depend upon
(1)  Underground rock formation

(2) Rainfall

(3) Recharge of surface water

(4)  Ocean currents

PRy~ IR AN
JE et )
Jh @)
LKL 6)
s (4

117. Dibang and Lohit are the tributaries of

(1) Indus
(3) Damodar

(2) Brahmaputra

118 . No. of districts in Andhra Pradesh at present

. 18
@) 25

119. Identify the correctly matched pair
(1) West Bengal -

(2) Odisha
(3) Rajasthan
(4) Mizoram

(4) Tapati
_uj'u_L.IUJb»d/ : MJJJJF;.E.J
S wiriln | (1)
gt @ 575 | (3)
e AP G T i T T
2) 24
4 26
Kolkata
Raipur
Udaipur
Agartala

_u:/(..'.'.ﬁl:fd/b?:.f/)ufd'_j.yzﬂ
S _JEds )
afelis o2 1(2)

Hi sl - gL | (3)
20 (s | (@)
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120. Which of the following statements is false regarding globalisation in India.
(1)  The impact of globalisation is uniform
(2) Some new jobs are created
(3)  Some Indian companies have grown as multinational companies
(4) It has benefitted well-off consumers

e thie Lol e P s e S i
U e )

G EGA @)

< ASS S B iaui Qe (3)

GEs BRI T ()

121. World Bank is |
(1) IBRDonly (2) IDAonly (3) IBRD+IDA (4) IMF only

-
IMFJU” . 4IBRD+IDA (3) IDASA () IBRDS# (1)
122.  Which among the following is/are true?

1) National Food Security Act was enacted in 2013.
ii)  Antyodaya card holders get 30 kg. of food grains per family only.

(1) (i) only (2) (ii) only
(3) (1) and (ii) (4) None of the two

_“:_ugu»,:c:.uid_fj,g;ﬂ
BB E2013ws6850I887 G
e bbbt 3 30 2 UK LEE (i

L a0 M=~ 1)
SIS Uil @) i) 4 () (3)

123. The theme of the book Silent Spring’ is
(1)  The impact of deforestation
(2)  The impact of spraying DDT
(3)  The impact of corruption on society
(4) The impact of urbanisation

-%CﬁrKfQ{J&KG"Silent Spring" (/"
Jdelet )

562 DDT.  (2)
I (3)

NS (4)
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124. The word ‘Chipko’ means
(1) To Save (2) - ToCwt (3) To Plant (4) To Embrace
—e LK (Chipeo) 23
WL (@ TNE)) DN =& (1)
125. The upper air currents are known as
(1)  Trade winds (2)  Jet streams
(3) Loo winds (4) Monsoons
..‘at'tgbéc_rtu i (Upper Air Current)udiﬁgf{.sl
(Jet Streams)u/"ﬁf..‘f_?. (2) SInddd (1)
ol @) Lizd  (3)
126. Bolshevik revolution took place in the country
(1) Russia (2)  Britain (3) Germany (4) France
_lﬂUJJufJJh,«ﬂﬁLf)’?E
U2 @) 6z ) bs @ v (1)
127. Bismarck, the Germany chancellor entered into a secrete alliance with *X” in 1879

and ‘Y’ in 1882. Which countries are ‘X’ and “Y’?
(1) X’ isltalyand ‘Y’ is Austria  (2) ‘X’ is Austria and “Y" is Italy
(3) X is Turkey and ‘Y’ is Austria (4) ‘X’ is Italy and Y’ is Turkey
e o Y X SE S s B Y L1882 X 1879 IS K

Y (Vs
QY- LATX @) LAy - X 1
ool X @ LAY _d2x  B)

128.

Identify the false statement regarding the ‘League of Nations’.
(1>  Russia and Germany are not the members of it.

(2)  Woodrow Wilson played a very active role in its formation.
(3) U.S.A. became an important member of it.

(4)  Even by 1934, it had 58 members only.

g St Slesk P i
ESNAL NS 2 (1)

otds At BN i (2)
_wfﬁfuﬁu-‘-w USA. (3)

ce M58 SALAUIKE 19340 (4)
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129. Germany : Reichstag : : Japan : ?

(1) Parliament (Z) Diet
(3) National Assembly (4) National Congress 7
-‘ Lol - S $2
Diet (2) 22l (1)

AR Fig? )

130. Find out the wrongly matched pair.
(1)  Animal Farm - George orwell
(2) NewDeal - Roosevelt
(3) Enabling Act- Mussolini
(4) Holocaust - Hitler

Sk

2Tt - (Animal Form)6J41 (1)
2iss - (NewDeal) 32 (2)

s - (Ensbiling Ac)e 14 (3)
. (Holocost)~6¥s  (4)

131. Which of the following statements is/are false?

i) Vietnam came under the direct rule of the French.

ii) The French wanted to develop Vietnam as an exporter of wheat.
(1) (i) only i (2) (ii) only

(3) (1) and (ii) (4) None of these

-‘qu_kbc}}rc.u-fd_'}',.ﬂﬂ
Lyt partileps
&2 bt 3o pl i L st G

(i) S~ (2 <~ ()
ety @) (i)0) @)
132. Peasant army was built by :
(1) Mao Zedong (2) Stalin

(3) Chiang Kai Shek (4) Sun Yat-Sen
_BLkd SLISuIS
Je @) £13gsE0 )
Leler @) Lo )
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133. ‘Pakistan or the portion of India-Introduction’ was the book written by
(1)  Gandhiji (2)  Eric Hobsbawm
(3) Muhammad Ali Jinnah (4) Dr. B.R. Ambedkar &
_JVCGJ&}JU"UJQKR#_L_UU@”
A @) dux¥ ()
S8 @) e )
134. Which of the following acts of Indira Gandhi supports the ‘Right ot Equality” of the
people?
(1)  Abolition of privy purses and titles
(2) Imposition of emergency
(3) Implementation of five-year plans
(4)  Operation Blue Star
...u_?L/a,u(!(yﬁol;v{uﬂatljfcdfé:(ﬁb’bﬂa..ufJ_.S,?JP
e blE @) FekeBalugfly (1)
Ltk @ SniSuri )
135. For the constitutional amendment, approval of 2/3 members is necessary in the
(1) Lok Sabha only
(2) Rajya Sabha only
(3) Lok Sabha and the Rajya Sabha
(4) Lok Sabha, Rajya Sabha and the State Assemblies _
_“:__dj,/i’d;,ﬁ" J 0] &r’d?»iéd)ﬁ" J (f}dzf‘"ﬁ
Llrabids - () Ll (1)
L;UM&LJ)','W,:Q!):{{'\_IJ’ (4) u:lq’,._gl)))ﬂe"u@ (3)
136. The first five year plan focused mainly on
(1) agriculture (2) industries (3) literacy (4) health
IASTE I AR IRl -7
ARr W, G ) SRR )
137. Panchsheel pact was signed between
(1) India, Pakistan (2) India, China
(3) India, Sri Lanka (4) India, Nepal
: 4
W gl Ul LE
S () gl (1)
Jiabasn (@) S air (3)
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138. | Two states having the common capital
(1)  Madhya Pradesh, Chhattisgarh  (2)  Punjab, Haryana
(3)  Gujarat, Maharashtra (4) Bihar, Jharkhand
-.‘L.."/ngb)/ /__.../ KU~ L
sl () 2 JUE Fhspra (1)
Ml @) Pt 3)
139.  The first non-congress Prime Minister of India is
(1)  P.V. Narasimha Rao (2) V.P. Singh
(3) Morarji Desai (4) Chandra Shekhar
r}”l_/bf; K/:f %Z.Ul?’ﬁf
Fo @ S (1)
Al @ Seséir @
140. The first president who was unanimously elected
(I)  Neelam Sanjeeva Reddy (2) - V.V.Giri
(3)  Sarvepalli Radhakrishnan (4) A.P.J. Abdul Kalam ;
_Lﬁu;;”{JJbﬁﬁJM%u
Sos @ SimZ )
e det (@) ESlobdess ()
141. The country that suffered less due to world war II was
(1) Germany (2) Russia (3) USA. (4) Britain.
JUUL&#'UW{LVJK_&G/’»
Lbs (@) UsShA: ) J (2) T
142. Identify the wrongly matched pair
& 1 g o o - The Hague
(2) W.H.O. - Geneva
(3) 'UNESCO - Paris
(4) UNICEF - Washington
J Szt (a
The Hague - EC]. (1)
Geneva - W.H.O. (2)
Paris - “UNESCO - (3)
Washington - UNICEF (4)
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143. The first human in space
(1)  Sputnik (2)  Yuri Gagarin
(3) Neil Armstrong (4) Kalpana Chawla
_ JJT%LBL%J’FJU‘;Ui
L6 @ Lt (1)
Stk (@) ST LVINE)
144. Jerusalem was a holy city for
(1)  Jews only (2)  Christians only
(3) Muslims only (4)  Jews, Christians and Muslims 3
gV Kul‘)/;{
gL () Kugmi (1)
(7 P 2T A C)) KIS 3)
145. Suez canal was nationalised by : ;
(1) Nasser (2) Ho ChiMin (3) Tito (4) Stalin
U151 (Suez Canal) v
S @ FARN) JEr () )
146. I have a dream » was the historic speech given by
(1)  Martin Luther king (2) Malcolm X
(3) Abraham Lincoln (4)  George Washington
_‘f;}&;t’J“ ‘th’jvg[ﬁf”
Sl @ EHI )
Ftl @) S G
147. Anti-Arrack movement : Andhra Pradesh : : Meira Paibi movement : ?
(1)  Madhya Pradesh (2) Tamil Nadu
(3) Assam (4) Manipur
gl paT - LI
T LANR
Sede @ JFsgos (1)
28 @ T B3)
148. The only country which is similar to India in federal polity is -
(1)  Britain (2) 1AL (3) France (4) Canada
._Q_Jy’:lc?c)l"/»kg dJ:rlE;dGJ
s @ Tl Sk bz (1)
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149. The constitutional day is celebrated on November 26t because
(I)  The constitution came into force on that day.
(2)  The constitution was finally adopted on that day.
(3)  The constitutional Assembly was formed on that day.
(4)  The constitutional Drafting committee was formed on that day.

L e blfrI260 Ty

SUSES L TP @) - wibef Tt (1)
FoFE B s @) SeF L Tt B)

150. Satara and Medinipur are famous for
(1)  theformation of independent governments during the Quit India movement.
(2) taxrefusal during the Civil Disobedience movement.
(3)  theboycottof foreign textiles during the Vandemataram movement.
(4)  Mahatma Gandhi’s Salt Satyagraha.

g e L 246 L st
JESUNTnl L i enss (1)
g L:/Ciﬁ‘lc_dgubué..{ o @)
L_{’t{cxgwfglﬁfuw‘i.{f}imxj (3)
oS LGy @)
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